
（１） だれかが公園を散歩しています。

( in the park / is / someone / a walk / taking ).

（２） ２本の木の間には何がありますか。　バケツです。

( between / what's / the two trees)?     A bucket.

（３） それはだれのバケツですか。　健のです。

( it / bucket / is / whose )?     It's Ken's.

（４） 健は何をしていますか。

( doing / what / Ken / is )?

（５） 彼はバケツの中へリンゴを入れています。

( apples / is / into the bucket / he / putting ).

（６） 人々は森でリンゴをつみます。

( pick apples / people / in the forests ).

（７） 健はどこでリンゴをつみますか。

( pick apples / Ken / where / does )?

（８） 彼は公園でリンゴをつみます。

( in the park / he / apples / picks ).

Someone is taking a walk in the park.
What's between the two trees?   A bucket.

Whose bucket is it?   It's Ken's.
What is Ken doing?

He is putting apples into the bucket.
People pick apples in the forests.

Where does Ken pick apples?
He picks apples in the park.


